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1. (204) #f(2), g(2) € Pla], d(z) = (f(x),g(2)) RO(ED) > 1,

d(z)

XHES = H?:l a;.

3. (20%) CMIA =

(1) kA™Y

B(42) > 1, MFfemE—fu(z), v(x) € Plz] 48

u(z)f(z) +v(x)g(x) = d(x),

x#(u(x) < d(5E), d(v(x)) < A(LD).
2. (20%) EnRMTHIR:

2 n—2 n—1 S

1 a; aj a; ay "+ -
2 n—2 n—1 S

1 a; a; a, ay + -~
1 a a2 an—2 an—1_|_ S
n n n n an

1 1 1 1
1 -1 -1

1 -1 -1 1

(2) #AB — A= B, kB'AB~.

d(z)




4. (20%) BAIAHM X s, Blm x nfakk.
(1) iF9: EETTRAX = BERNANLELIRr(A, B) = r(A);
(2) Wid: EHETEX A = BERINTA BERI 42

5. (20%7) BANEIEP &RV kR, f(x) € Ple]#f3f(A) =
0, f() = fi(z)fa(z):-- fo(x) Hfi(x), f2(@),...; fo(x) PIRTLE.
AV, = (£:(A)710),i=1,2,...,8. ifH: V=V, O Vo H--- D V..

6. (154)) wLkbkirmadl

{CU1+CC3 =0, (1)

CC2+£C4 =0

MR AW, K MEa = (2, 3,4, 5)EW LIRS L aR W I E.
(FE: mAmAV = VL @ V24, WiEEa € VHa = ay + ag, ay € Vi,
ay € V34, Frog iR T2V BT

7. (15%99) R RALf (1, T2, 3) = a2 + 3 + 2 — dwixs — dxi23 +
2ax 3Bt IEX LM B = Pytaibsi i f = 3y? + 3y3 + by3,Ka, bify
B IEAZHEP.

8. (204)) WAKN X nIFE, kNERYL, WEAR =0, IEW: A" =0,

b
DO
=




